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Exam 3 YEARS DIPLOMA IN MECHANICAL ENGINEERING

QID : 1 - In the following question, some part of the sentence may have errors. Find out v hich part of the sentence has an error and select the appropriate option. If a
sentence Is free from error, select 'No Error'.

You, he and | (1)/ will be punished for (2)/ the crime we have committed. (3} No error (4)
Options:

1) 1

2)2

3) 3

4) 4

Correct Answer: 1) 1

Candidate Answer: 3) 3

QID : 2 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Sloppy

Options:

1) Messy

2) Clumsy

3) Orderly

4) Dingy

Correct Answer: 3) Orderly

Candidate Answer: 3) Orderly

QID : 3 - In the following question, a word has been written in four different ways out of which only one is incorrectly spelt. Select the correctly spelt word.
Options:

1) Proprietary
2) Praprietary
3) Propriatary
4) Preprietary

Correct Answer: 1) Proprietary

Candidate Answer: 2) Praprietary

QID : 4 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Unfortunately, its reality hit me the next morning. | slept past the chirping of birds, but was woken up by loud voices crossing my window every now and then. When | went to
the kitchen to make myself some tea, a couple of tourists were peeping in through the glass door. Day trippersl

The old-world charm of this village, with only 305 residents, was drowned by the callousness of visitors who only seemed to care about their photos and getting drunk, almost
running over the locals in their rental cars, never realising that they were intruding into someone’s sleepy neighborhood and life. My hosts assured me that the number of day
trippers now was not nearly as bad as in the peak summer season, and joked about how the village residents, their homes and their kitchens must be curious, unfamiliar
sights for tourists.

If you're on the same page, you're probably thinking that an easy solution is that travel bloggers like me should never write about their “offbeat” finds. But as my social media
followers often remind me, isn't it part of my job to disclose the exact location of my stories and photos, so others can choose to experience my finds over ‘tourist traps'?

I've dwelt on this dilemma for a long time. But walking on those cobblestone streets in | stria (mostly at sunrise and late at night). it occurred to me that no, perhaps that isn't
the role a travel blogger Is supposed to play. The way | see it now, my work as a travel blogger should inspire my readers to think of travel differently — to reconsider their
travel choices, to seek local encounters, to carve out their own journey. It's the reason | never have, and never will, give you a three day itinerary to “do” a destination. That's
not how | aspire for my readers to experience somewhere I've been and loved.

What hampered the old-world charm of the village mentioned in the passage?

Options:

1) Concern of the day trippers

2) Growing number of the day trippers
3) Locals ignoring the day trippers

4) Insensitivity of the day trippers

Correct Answer: 4) Insensitivity of the day trippers

Candidate Answer: 1) Concern of the day trippers

QID : 5 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Unfortunately, its reality hit me the next morning. | slept past the chirping of birds, but was woken up by loud voices crossing my window every now and then. When | went to
the kitchen to make myself some tea, a couple of tourists were peeping in through the glass door. Day trippersl

The old-world charm of this village, with only 305 residents, was drowned by the callousness of visitors who only seemed to care about their photos and getting drunk, almost
running over the locals in their rental cars, never realising that they were intruding into someone’s sleepy neighborhood and life. My hosts assured me that the number of day
trippers now was not nearly as bad as in the peak summer season, and joked about how the village residents, their homes and their kitchens must be curious, unfamiliar
sights for tourists.

If you're on the same page, you're probably thinking that an easy solution is that travel bloggers like me should never write about their “offbeat” finds. But as my social media
followers often remind me, isn't it part of my job to disclose the exact location of my stories and photos, so others can choose to experience my finds over ‘tourist traps'?

I've dwelt on this dilemma for a long time. But walking on those cobblestone streets in | stria (mostly at sunrise and late at night), it occurred to me that no, perhaps that isn't
the role a travel blogger Is supposed to play. The way | see it now, my work as a travel blogger should inspire my readers to think of travel differently — to reconsider their
travel choices, to seek local encounters, to carve out their own journey. If's the reason | never have, and never will, give you a three day itinerary to “do” a destination. That's
not how | aspire for my readers to experience somewhere I've been and loved.

Which of the following 1s NOT an example of callousness of the day trippers?

Options:
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1) Running over the locals in their rental cars
2) Misbehaving with the locals
3) Peeping into the homes of locals

4) Caring only about the photos
Correct Answer: 2) Misbehaving with the locals

Candidate Answer: 2) Misbehaving with the locals

QID : 6 - Agriculture comes under which sector of economic activity?
Bl g anfife Tiafafe & &% & sfavid i 82

Options:

1) Secondary sector

fadia® &a®

2) Primary sector

WYHS &ad®

3) Tertiary sector

Jda® &a®

4) Quaternary sector

IqATEHD &8FH

Correct Answer: 2) Primary sector

Wi e

Candidate Answer: 2) Primary sector

WS &=

QID : 7 - Which among the following is known as the earliest period in history?
SN & RIS BId &I FEiaRad # I w1 &gl wildl 87
Options:

1) Palaeolithic

YT ol

2) Mesolithic
HEqUTETor g7

3} Microlith
T YTHTT

4} Neolithic
~dUTHToT

Correct Answer: 1) Palaeolithic

AT ol

Candidate Answer: 1) Palaeolithic

YT ol

QID : 8 - Which imaginary line running on the globe divides it into two equal parts?

I Ul BIcdi-ich @I g DI Gl &SR HIN H siedl 82
Options:

1) Tropic of Cancer
Heh L@l

2) Tropic of Capricorn
e Xl
3) Equator

faga v

4) None of these

ERER IRl

Correct Answer: 3) Equator

fga ¥

Candidate Answer: 3) Equator

fargas war

QID : 9 - Which of the following is not an element?
Fafeiad § O ®H 91 dd el 82
Options:

1) Sodium
qifsga

2) Tin
GG

3) Water
LIEl

4) Carbon
GACE

Correct Answer: 3) Water

arl

Candidate Answer: 4) Carbon

B

QID : 10 - What is the shortcut key to group the range of cells in MS — Excel?

MUY, - TR & O &1 907t &l THEidd & & o 2iiddme $ofl 31 82

T TEY o




] it A
1) Shift + Alt + Right

2) Shift + Alt + Left

3) Ctrl + Shift + §

4) Ctrl + Shift + J

Correct Answer: 1) Shift + Alt + Right

Candidate Answer: 1) Shift + Alt + Right

QID : 11 - In the following question, select the missing number from the given series.
11,17, 23,29, ?

fafeted uy # QU U faeedl # 9 g 3id i difae |

11,17,23,29,?

Options:

1) 35

2) 40

3) 30

4) 45

Correct Answer: 1) 35

Candidate Answer: 1) 35

QID : 12 - In the following question, select the missing number from the given series.
43, 39, 35, 31, ?

frafaRad wy & fau T fdsedl | 9 qu 3id 1 difag|

43, 39, 35, 31, ?

Options:

1) 26

2) 27

3) 28

4) 25

Correct Answer: 2) 27

Candidate Answer: 2) 27

QID : 13 - In the following question, select the related letter/letters from the given alternatives.
POET : SRHW :: GOAT: ?

Frafafad uy & G e fadedl © O Tefia Siar/3ieR! & |

POET : SRHW :: GOAT: ?

Options:

1) JRDW

2) KSEV

3) KRDV

4) JOBW

Correct Answer: 1) JRDW

Candidate Answer: 1) JRDW

QID : 14 - In a certain code language, "PASS" is written as "NYQQ."How is "TASK" written in that code language?
U® ¥y e UIar H “PASS” &1 “NYQQ” for@l Iid1 &1 59 ®is 19T H “TASK” @i g TSR ferar s ?
Options:

1)QyQJ

2) RZPJ

3) RYQl

4) QZRJ

Correct Answer: 3) RYQI

Candidate Answer: 3) RYQI

QID : 15 - What is the HCF of 12, 20 and 407

12, 20 TYT 40 BT Hg0H FAMAAD a1 5?2
Options:

1) 4

2) 120

3)2

4) 60

Correct Answer: 1) 4




Candidate Answer: 2) 120

QID : 16 - What is the value of 15+ 16+ 17 + 18 ... + 307
15+ 16 + 17 + 18 ... + 30 &I H- &I &?

Options:

1) 320

2) 360

3) 330

4) 340

Correct Answer: 2) 360

Candidate Answer: 4) 340

QID : 17 - Cost price of an article is Rs 1600 If profit is 15%, then what will be the selling price (in Rs) of the article?

U g% &1 4 g 1600 T & Tie T 15% &, i 9% B [dshd g (¢ H) F1 82
Options:
1) 1880
2) 1360
3) 1840

4) 1930
Correct Answer: 3) 15840

Candidate Answer: 3) 1540

QID : 18 - Average of A, B and C is 40_ If average of A and B is 20, then what is the value of C?
A BTAUIC B3I 401 TG A TUTB BT 31U 20 §, df C BT HH T 82

Options:

1) 20

2) 40

3) 80

4) 60

Correct Answer: 3) 80

Candidate Answer: 3) &0

QID : 19 - Read the following information carefully and answer the given questions.
The number of shoes sold in a shop in years 2013, 2014, 2015, 2016 and 2017 is 540, 620, 658, 775 and 940 respectively.
FafRed e $1 WFYEE ATTT HIWC FUT 73T T usl 71 39 i)

ay 2013, 2014, 2015, 2016 TYUT 2017 H Ut gaH | fadh- dicl S| 1 UWAT HHL: 540, 620, 658, 775 AU 940 &
Number of shoes in year 2016 is how much percent more than the number of shoes in year 20147

a¥ 2016 T S[dl @ GBI Y 2014 T ofqi 31 T § fova1 wia=d s 82

Options:

1) 30

2) 15

3) 20

4) 25

Correct Answer: 4) 25

Candidate Answer: 2) 15

QID : 20 - Read the following information carefully and answer the given questions.
The number of shoes sold in a shop in years 2013, 2014, 2015, 2016 and 2017 is 540, 620, 658, 775 and 940 respectively.
FrafafT THeR Bt uryde s Fifwe 9uT e 7 usf @1 39 difm

ay 2013, 2014, 2015, 2016 TYU1 2017 § Ush goH H f9eh- dlel ofd| 1 UBAT HHL: 540, 620, 658, 775 9UT1 940 &
Number of shoes in year 2015 is how much percent less than the number of shoes in year 20177

a9 2015 H Sl & Y& a8 2017 F Sl 1 AT Y foa=1 Uia=Id &H 872

Options:

1) 30

2) 25

3) 43

4) 35

Correct Answer: 1) 30

Candidate Answer: 1) 30




QID : 21 - |s soderberg the most conservative fatigue failure criterion?

1 Giexad gad el yeH (3if) &1 [Awaa &1 9] 872
Options:

1) TRUE

el

2) FALSE

UG

3) True In most cases

TR Rufadt § uet g

4) False in most cases

e Ryfagf § Tad 8

Correct Answer: 1) TRUE
el

Candidate Answer: 1) TRUE

el

QID : 22 - For a ductile material, the ability to absorb energy upto fracture is

U 0 Ygid & AU, thaar d@ il Bl AGLNud &1 &f argdl gl

Options:

1) Hardness

HARdl

2) Toughness

Tedl

3) Elasticity

PRI

4) No option is correct

Bis Hi fGoe ggi 8T &

Correct Answer: 2) Toughness
TG

Candidate Answer: 2) Toughness
=L

QID : 23 - Which of the following is sufficient to calculate resulting change in diameter of a rod of length (L) and diameter (D) which is subjected to a tensile load (P)?

fafaiad 9§ O &1 91 ddg (L) SR &Y (D) & U &5 & oarg H R uRdd= &1 T10H1 &34 & 0T aii § Sff U a4 YR (P) & & 82

Options:

1) Young’'s modulus

7 DI AI®

2) Shear modulus

U= Jdi®

3) Both Young’s modulus and Shear modulus
I7 ®1 A191® qYT 000 A9 G H

4) No option is correct

Big i fapeu wel el &

Correct Answer: 3) Both Young's modulus and Shear modulus
7 T AMI® qUT T AP Gl

Candidate Answer: 3) Both Young's modulus and Shear modulus
41 &1 A91% YT ATEY H191d GHI

QID : 24 - In straddle milling,

LSERAIUE |
Options:

1) Internal threads are made

HiqRe Ut g1 o1 §

2) Two sides of a work piece are machined simultaneously
U B $ ol Ued U a1y 7T 4 fHy od &

3) Work piece gets its super finishing

B B 3BT YU GRep ) (AR fed 8

4) No option is correct

Big i fapeu wel e &

Correct Answer: 2) Two sides of a work piece are machined simultaneously

U B & ol Ueq U a1y 7 & fpy oid &

Candidate Answer: 2) Two sides of a work piece are machined simultaneously

UH B P &l Ugq U 1Y 7R 4 fpu od &

QID : 25 - What is the relation between Young's modulus (E), Bulk modules (K) poission’s ratio (u).

7 & A9 (E), AT HI9i6 (K) U594 & 301 () & did &1 T6Y 2
Options:

1)E=K(1-2p)

2)E =K(1 - p)/6

3) E=3K(1-2p)

4) No option is correct

ls i fddey 9 78T &
Correct Answer: 3) E=3K(1-2p)

Candidate Answer: 3) E=3K(1-2 p)

QID : 26 - In defection in beam algebraic sum of all moments about any point is

farzur faaimur 4, fooddt famg, o U QT ol &1 R g8l
Options:

1) Zero

RIS
2) Equal

T T aT




A Y e Y

3) Discreet
[CEIEEI
4) Same
HHH

Correct Answer: 1) Zero

TH

Candidate Answer: 1) Zero

T

QID : 27 - The density of mercury is equal to
URI &1 ¥ & FUH B
Options:

1) 13600 kg/m*
13600 oo ar./H13
2) 1360 kg/m>
1360 fdo o1 A=
3) 1.36 kg/m>
1.36 fob 71 /41°

4) No option is correct

g i ey g 18

Correct Answer: 1) 13600 kgfm3
13600 o5 71 /412

Candidate Answer: 1) 13600 kgfm3
13600 foo 7. /41>

QID : 28 - Layer at which the strain is zero is
WRd o9 R fasfa Y € 9 gl

Options:

1) Zero layer
PIRZUED

2) Neutral layer

dofy Ugd

3) Sub — zero layer
GU — I Udd

4) No option is correct

Bis Hi fGpey g 8T

Correct Answer: 2) Neutral layer
dedy gid

Candidate Answer: 2) Neutral layer
ey gid

QID : 29 - Height of centroid from base of a solid hemisphere of radius R is
R FIo91 & T 319 TMaTY o YR 4, Hsd Bl Hdls o

Options:

1) R/8

2) 3R/8

J)R+8

4) 8R

Correct Answer: 2) 3R/8

Candidate Answer: 2) 3R/8

QID : 30 - A joint for which the contact between the two kinematic elements is along a surface or area is known as

U U ol &l TMiad! dal & did &1 YU Jde a1 &3 & 1Y g, Dl & €Y Y o1 S1dl 5 |

Options:

1) Surfaces pair

Hdg gHH
2) Contact pair

o T
3) Ternary pair

gy
4) Higher pair
Joddl gH

Correct Answer: 1) Surfaces pair

Hdg g™H

Candidate Answer: 1) Surfaces pair

Hdg JH

QID : 31 - Which process is used to reduce brittleness of a martensitic steel without any significant loss in its hardness?

HO B RAr o fardi Ut ubR GeaH & 41 Ue ard-rgdl ©id & YRl &1 &8 ®i- & ol g Ufshar &1 IJuginT faar §rdr g2
Options:

1) Normalising
AT TS
2) Quenching
HA

3) Annealing

GIRIGEINE]

4) Tempering

Correct Answer: 1) Normalising

LI eS| B GZa|

Candidate Answer: 4) Tempering

ot




QID : 32 - Strength of the metal decrease and ductility increase of a solid metal due to

& HRU U 319 YUId &I Uacidl ®F &l Sldl & 3R UIg P a-gd1 ¢ oidl gl

Options:

1) Decrease in temperature

GIRCIER=E

2) Increase in temperature

agaHE o gfg

3) Increase in density

g9 H gfg

4) Decrease in density

g H HH

Correct Answer: 2) Increase in temperature
GIPE IR G|

Candidate Answer: 2) Increase in temperature
agaH | gfg

QID : 33 - To achieve directional solidification are used.

fCRITe® &1 SHEE ®I U B & [ag ®1 IUINT fHa1 S &1
Options:
1) Chills

foe
2) Chisels

i

3) Trowel

3

4) Draw — spike
S VIEED

gL

Correct Answer: 1) Chills

R

Candidate Answer: 1) Chills
fereq

QID : 34 - Skelton patterns are generally used for
T Wiowd AR TR CARLELUNICRIEIGIE
Options:

1) Ferrous casting

dig ealle

2) Non — ferrous casting
iR - ofis arg

3) Hollow casting
el Gl

4) Large casting

ES KNI

Correct Answer: 4) Large casting

EEIEH]

Candidate Answer: 4) Large casting

E I

QID : 35 - In tube drawing to form the internal hole IS used.
3dR® % @) 99 & fau ogd s o @1 SUANT {61 a1 & |
Options:

1) Mandrel
G (8RT)

2) Pin hammer
ot gt

3) Chisels

ERl

4) No option is correct

B3 ey Tt 18T &

Correct Answer: 1) Mandrel
GSP (YX0)

Candidate Answer: 1) Mandrel
aS® (UR0)

QID : 36 - Porosity of the metal is largely eliminated during
YT DI T DI ™ GRIF ®IHI §¢ dd AW SR 161 Al g
Options:

1) Hot working

& fepar

2) Cold working

RGAER]

3) Both Hot working and Cold working
& o qun =fa far et

4) No option is correct

B AT Hel T2 8

Correct Answer: 1) Hot working

RARER

Candidate Answer: 2) Cold working

EIGRERI

QID : 37 - What temperature, the medium carbon steel can be forged?




I 91 dUHH, 999H $le- RId d Bivis ol 9bdl 62
Options:

1) 1350°C to 1700°C
1350°C ¥ 1700°C

2) 750°C to 1250°C
750°C ¥ 1250°C

3) 400°C to 700°C
400°C ¥ 700°C

4) No option is correct

B3 ey Tt 18T &

Correct Answer: 2) 750°C to 1250°C
750°C ¥ 1250°C

Candidate Answer: 2) 750°C to 1250°C
750°C ¥ 1250°C

QID : 38 - are required for striking the molding sand mass in the molding box to compact it uniformly.

iy didd H Gallg d & GodHH @I HH U d ied B & (o7U 3! ahdhdl sidl gl

Options:

1) Hammer

gutsT
2) Flatter

TOddidRG

3) Rammer
G|

4) No option is correct

B3 [T Tel T2 8

Correct Answer: 3) Rammer

ERE]

Candidate Answer: 3) Rammer

ERE]

QID : 39 - A body is said to be in equilibrium if .
s FHE I GrEawl | dal ofdl & 416 |
Options:

1) It is moving zigzag

Tg CGI HGI IU T TG W ©
2) It is moving forward

g 31 6 WE1 &

3) It is shaking

Ts Ra e

4) No option is correct

I3 [T Hel T2 8

Correct Answer: 4) Mo option 1s correct

B3 ey Tt 18T &

Candidate Answer: 4) Mo option is correct

@ls [ddcd ¥el 98 o

QID : 40 - The torsional resistance of a shaft is NOT directly proportional to .
Ud TUE &1 2rg-d Ufaiy I & fog squifa® el &1
Options:

1) Modulus of ngidity

HS Rl & HITiD

2) Moment of inertia of shaft section
M WS DI olScd AUl

3) Angle of Twist

HI0 BT A

4) Reciprocal of the length of the shaft
T BT da15 BT YRURD

Correct Answer: 2) Moment of inertia of shaft section
MU Ge DI Tod Al

Candidate Answer: 3) Angle of Twist
B0 BT AS

QID : 41 - In DC welding, straight polarity is when work piece is connected to
Sl a8 el ydiadr 99 il € & &1l b1 gha U JSTEIar gl
Options:

1) Neutral terminal
RGN GIEER)
2) Negative terminal
BUTHD 1T

3) Positive terminal
YTHD -1

4) Earthing

Correct Answer: 3) Positive terminal
YTHD [T

Candidate Answer: 3) Positive terminal
YD IR

QID : 42 - Which type of chips is produced while machining a ductile material?

Y UHR &1 U BT G (&1 91d1 § Sdid A== a0 ugrd §2

Options:




1) Continuous

Hdd

2) Discontinuous

S

3) Continuous chips with cutting edge
Ut &A1Y FRER T

4) No option is correct

@l [ddcd Hel 98 o

Correct Answer: 1) Continuous

Hdd

Candidate Answer: 3) Continuous chips with cutting edge

3Tt & Ty PR I

QID : 43 - The C.G.S. unit of viscosity is

C.G.S U=fd ¥ WWHAI &1 3hla |
Options:

1) Bar
Gk
2) Nim?

3) Poise
digy

4) No option is correct

Bls [dcd Hel T8 o

Correct Answer: 3) Foise

Al

Wiy

Candidate Answer: 3) Poise

L)

wigd

QID : 44 - Tool wear can occur due to
& BRY ¢d 90 81 Gadl &
Options:

1) Diffusion
TR

2) Abrasion
HTHHy

3) Oxidation
HIRI B

4) All options are correct

i faed Tl &

Correct Answer: 4) All options are correct

oy fdehey Tel &

Candidate Answer: 4) All options are correct

o ey wel

QID : 45 - What are the main element of grinding wheel?
Oars & Uied &1 A dd 3187

Options:

1) Abrasives
HUgHDH
2) Bonding agents

b

3) Both Abrasives and Bonding agents
TN qUT SIST Uoied Gl
4) No option is correct

I3 ] Hel T2 8

Correct Answer: 3) Both Abrasives and Bonding agents

MTINE qUT i1 Usied GiH!

Candidate Answer: J3) Both Abrasives and Bonding agents

HTTYd quT ST Tsied Gl

QID : 46 - When cutting speed will increase the friction at the tool — chip interface will

ofd g @1 T1fd d¢ A ¢a- siqRIbad H gy B SITE|
Options:

1) Decrease

wH

2) Increase

[

3) Initially increase
TRY A E¢

4) Initially decrease

URY d6H

Correct Answer: 1) Decrease
oy

Candidate Answer: 1) Decrease
hH

QID : 47 - The process in which thermal energy is used for removing material is

forg ufesan & ardia Soif &1 ugi1 gard &f e o foru fasar oirdn 8, a8 Bl
Options:

1) Plasma arc machining
T 1 G
2) Laser beam machining

e fTor JEfif




3) Abrasive jet machining
YU Sfe HEffT

4) Ultrasonic machining

RS g

Correct Answer: 2) Laser beam machining

TioR ooy JEhfHT

Candidate Answer: 2) Laser beam machining

TR oo T

QID : 48 - In machining, coefficient of friction at the tool clip interface is
it | o Gy Sipae RN S1oies B

Options:

1) 0.477

2) 0.831

3) 0.352

4) 0.455
Correct Answer: 4) 0455

Candidate Answer: 2) 0.831

QID : 49 - Which of the following is most accurate?
Fafafea 8 9 @F 9 9ed oies 82

Options:

1) Micrometer

ATshiHey

2) Vernier caliper

TR BT

3) Optical projector

PEARIDIALGS

4) Slip gauge
CORE]

Correct Answer: 3) Optical projector

PR IG

Candidate Answer: 4) Slip gauge
fhae- &1 3A

QID : 50 - Auto collimeter is used to measure the
3iicl BIcHIeT &1 UanT ®I AU & fou fear v g1
Options:

1) Smoothness

TGO (TR

2) Flatness
HHd !
3) Both Smoothness and Flatness

qgurdT (RIeTE) 9uT 9qdadl gHf

4) No option is correct

IS ey Tel TE 8

Correct Answer: 2) Flatness
GHTT

Candidate Answer: 4) Mo option is correct

@l [ddcd Hel 98 o

QID : 51 - MclLeod Gauge measure
Apars @I A 8

Options:

1) Vacuum

fraia

2) Volume

HId-

3) Density

Y

4) No option is correct

IS faded Hel T8 &

Correct Answer: 1) Vacuum

fafa

Candidate Answer: 1) Vacuum

frata

QID : 52 - The choke is closed when engine is
SS9 B W did &g ol Il g
Options:

1) Cold

e

2) Hot

TH

3) Accelerating
oaid

4) Uniformly working
O ® 9 4 B

Correct Answer: 1) Cold

LES




Candidate Answer: 4) Uniformly working
O ® 9 4 B

QID : 53 - Loss due to incomplete combustion is the major problem in
H 3quf g8 & HRU BT U THE FHE13 |
Options:

1) 5.1. engine

SAREE
2) C.| engine

C.13oH
3) Both 5.1. engine and C.l. engine

S| 3o 9UT C | 3o gl

4) No option is correct

@ls [ddcd ¥el 98 o

Correct Answer: 2) C.| engine

C.1.3oH

Candidate Answer: 1) 5.1 engine

S| goH

QID : 54 - In a diesel engine, the intake charge consist of
Siold 394 |, 3i=igu 9= HGIE

Options:

1) Fuel + air

2HT +dg

2) Lubricating oil + fuel + air

@S dd + 3 + gal
3) Air alone

hdd gdl

4) Lubricating oil + air

®E o + gar

Correct Answer: 3) Air alone

&ad gdl

Candidate Answer: 3) Air alone

&ad gdl

QID : 55 - What will happen to the power to weight ratio when the number of cylinders in multi cylinder engines increases?
Tee! (e 3o § Rydex! 1 AT dg4 IR Wi &l YR U HJUId &I I gI?
Options:

1) Increases
EA I

2) Decrease
gedi g

3) Become zero

4 &
4) Remains the same

Jufiafdd wars |

Correct Answer: 1) Increases

TGl ®

Candidate Answer: 4) Remains the same

uRkafdd e |

QID : 56 - The dimensional formula for surface tension is
U§ a4 & o fadia @ el
Options:

1) ML'T?

2) M2

3)MIL'T!

4) No option is correct

Pl [dded el el &
Correct Answer: 1) ML'T?

Candidate Answer: 4) No option is correct

IS f[ddcd Hel T2 8

QID : 57 - Which of the following components of RAC consists of coils?

3R U T & Fgfifed ueol # 4 fod sigd gid 22

Options:

1) Expansion value

U HIH

2) Compressor

qdig®

3) Both Expansion value and Compressor
T9R A JY1 UiS® Gl

4) No option is correct

I3 [T Hel T2 8

Correct Answer: 4) Mo option is correct

Blg [dded Hel T8 o

Candidate Answer: 1) Expansion value
U HIH

QID : 58 - The effect of undercooling is to the value of co — efficient of performance under the same set of conditions




Al Ll SR e B B e PO e LW B EY Ll L B A ER Y A ot B Et o e L B
Options:

1) Increase

de-l

2) Decrease

DB

3) Reduce to minimum
B U HH DL

4) No option is correct

I3 [T Hel T2 8

Correct Answer: 1) Increase
deHl

Candidate Answer: 1) Increase
de-l

QID : 59 - During a refrigeration cycle, heat is rejected by the refrigerant in a

U WRiIdH 9 & SR, URitdd gRI # it & | o Gar Jar g |
Options:

1) Evaporator
Jetdd
2) Compressor

ddtes

3) Expansion value
TN HIH
4) Condenser

HoTa

Correct Answer: 4) Condenser

HoTE

Candidate Answer: 4) Condenser

HoTE

QID : 60 - During a refrigeration cycle, temperature of refrigerant increased in
U YR b & R, URfidd &1 dlgq= ddgdliel
Options:

1) Evaporator

Jeltdd

2) Compressor

quis®m

3) Both Evaporatorand Compressor

JEWIH ayl YUie® Gl

4) No option is correct

i3 fddbed Ul gl o

Correct Answer: 3) Both Evaporatorand Compressor
JEYIH ayl YUie® Gl

Candidate Answer: 2) Compressor

qdis®

QID : 61 - link does not undergo any deformation while transmitting motion.

T TR ®3d I9g o1 fordl faspfa O 721 TeRdl B
Options:

1) Permanent

T
2) Rigid

3) Flexible
GEIG

4) Fluid
GRS

Correct Answer: 2) Rigid
DR

Candidate Answer: 2) Rigid
DR

QID : 62 - What is the mathematical expression for determining the number of instantaneous centers?

diBIdd dgl & e HYid @ & fog Ty sfiefed s g?

Options:
1)
N=n(n-1)/2
2)
N=(n-1)2
3)
N=2nn-1)
4)
N=2n(n-2)

Correct Answer: 1)

N=n(n-1)/2

Candidate Answer: 1)

N=n(n-1)/2

QID : 63 - The power transmitted through a pipe Is




TG USUe HEH O Utd e B
Options:

1) pQH;

2) pgQ(H-hy)

3) pgQ(H + hy)

4) No option is correct

I3 ] Hel T2 8

Correct Answer: 2) pgQ(H-hs)

Candidate Answer: 2) pgQ(H-hy)

QID : 64 - The hydraulic mean depthis ___
TR MM

Options:

1) PIA

2) PYIA

3) PA

4) A/P

Correct Answer: 4) AP

Candidate Answer: 4) A/P

QID : 65 - Toothed wheel used for transmitting motion is known as

T Uftd @ & 10 AT a1 9 arell ey @id @l Hed 8l

Options:

1) Flywheel

2) Gear

R

3) Both Flywheel and Gear
TS e auT FR Gt

4) No option is correct

@3 faeed Wel T8l &

Correct Answer: 2) Gear
R

Candidate Answer: 2) Gear
R

QID : 66 - are used to regulate the mean speed of the engine.

o @ AT 71T B FdfEd & & g BT IUINT {1 S g
Options:

1) Follower
Ues-die T
2) Cam

G2l

3) Gear

R

4) No option is correct

Bis i fapeu wel e &

Correct Answer: 2) Cam

&H

Candidate Answer: 4) No option Is correct

Big i fapeu wel e &

QID : 67 - If the change in diameter is very less then the governor is
afg o9 & ufiad- 9gd 49 § dl s Bl
Options:

1) Stable
&R

2) Not stable
HRRR

3) Sensitive

HagT=iia

4) No option is correct

Bis i fapeu wel el &

Correct Answer: 1) Stable

R

Candidate Answer: 4) Mo option is correct

HIE i oy 981 181 8

QID : 68 - In reciprocating engine, primary forces

TN 3ol #, TYfH® 9a |
Options:

1) are unbalanced
S RGINCES

2) are balanced
RGINGES

3) are pa[tiallg balanced




[d: 9dlcid &
4) Cannot be balanced

Yferd g1 foan o Yadi g

Correct Answer: 3) are partially balanced

Candidate Answer: 3) are partially balanced

QID : 69 - What is the radius of gyration for the disc type flywheel?

&% oI 99 & U smady B s 82
Options:

1) R?

2) R/2

3) 2R/3

4) 2R

Correct Answer: 2) R/2

Candidate Answer: 2) R/42

QID : 70 - The ratio of two specific heats of airisequalto
EICIRARCIRIAAS IS A ko

Options:

1)1

2)1.41

3) 2

4)3

Correct Answer: 2) 1.41

Candidate Answer: 2) 141

QID : 71 - Flank is the surface of gear tooth

i 1R g4 &1 9ds &l
Options:

1) above pitch surface
g @1 Udg & HIR

2) below pitch surface
for &t g & -

3) Between the pitch surface
U< ®1 ¥dg & &9

4) No option is correct

o2 R Ta T =i

Correct Answer: 2) below pitch surface

U9 &1 Tdg & Jid

Candidate Answer: 1) above pitch surface

@ gds & FW

QID : 72 - Which of the following is the correct sequence according to the direction of motion transfer in |.C. engine?
Hrs. 41 71 R $1 G20 & HUR Fufdiad 3 9 ©1F 91 359 Uel 62

Options:

1) Cranshaft — crank — connecting rod — piston
HDHIAE — shb — TN B8 — U

2) connecting rod — Crankshaft — crank — piston
ol 88 — HHUIE — hd — U

3) piston — Crankshaft — crank — connecting rod
e — HHAR — Hd — Yol T

4) Piston — connecting rod — crank — crankshaft

e — Uael 88 — $F — SO

Correct Answer: 4) Piston — connecting rod — crank — crankshaft

e — TNl 88 — $dh — hHITR

Candidate Answer: 4) Piston — connecting rod — crank — crankshaft

e — UaM 88 — $F — HHIR

QID : 73 - A refrigeration with its door open is left running in a closed room. The room temperature will
Tdh WRiTaH (-2 foi¥d G3dmel ol §U §, @ U s¢ &A% H dadl §H 8IS a1 T4 § | ®HR &1 dIIHH |

Options:

1) increase

CEl

2) decrease

g

3) remain unaffectedly
A B

4) initially rise then falls

¥R & 9T 5 TR

Correct Answer: 1) increase

G|

Candidate Answer: 1) increase

G|

QID : 74 - Bulk modulus is equal to




SIGER I P REI A gl
Options:

1) pdp/(d?)

2) —(pdp)/d

3) p*dip

4) No option is correct

ois 4l fadey Tt 181 &
Correct Answer: 1) pdpf{dzj

Candidate Answer: 4) No option Is correct

Bis i fapeu wel e

QID : 75 - The Chezy’s formula is given as for major losses due to friction in pipe
UTsy | 94U & HRUI g5 T Bii-dl & o faan man <= g el
Options:

1)V = CVmi

2)V = «/Cmi

3) C = V(m/i)

4) No option is correct

Big i fapeu wel el &

Correct Answer: 1) V= C+mi

Candidate Answer: 1) V = CVmi

QID : 76 - In thermit welding, the iron oxide and aluminium are mixed in the ratio of
ufife 3fegn § dig sifearss iR UegHiftag & o 3rqurd F fEraman ST 2 |

Options:
1)1:2
2)3:1
3)1:4

4) No option is correct

B3 ot fgpeT gt &
Correct Answer: 2) 31

Candidate Answer: 4) No option Is correct

Big i fapeu wel e &

QID : 77 - Biot number is the ratio of
ddie TE GRS E ISR
Options:

1) (Surface convection resistance)/ internal conduction resistance
(Gde Tdeg- UiRIYy/Hidke 9ra- uioRiy

2) Conduction /convection

EISEIEERR]

3) Resistance/conductance

PIRHPIERICTE

4) No option is correct

Big i fapeu wel el &

Correct Answer: 1) (Surface convection resistance)/ internal conduction resistance

(Hde Hdg- ulaRiy)/{idied Ira- ufd

Candidate Answer: 2) Conduction /convection

EIGGIEERR]

QID : 78 - Fins are provided on the engine for the purpose of
fth & IR0 & oY 99 WX UgH U oiid §1

Options:

1) Water vapour dissipation
ERIGI AR |

2) Prevention from external damage
a1l &fd ¥ sd19

3) Heat dissipation

I faeR

4) No option is correct

Bis i fapeu wel e &

Correct Answer: 3) Heat dissipation

T faae

Candidate Answer: 3) Heat dissipation

I faarm

QID : 79 - Critical thickness of insulation for sphere is given by
el & foTe $gai=H &1 shifdd Alerg ERIGITS B

Options:

1) 2K/h
2 &g

2)1 K/h

1 &/Ud

3) 4/3 Tir*h/K
4/3 THRZTAD

4) 4 irk/h
4 THRD/TH




Lorrect Answer. 1) AW/

2 &g

Candidate Answer: 1) 2K/h
2 B/

QID : 80 - Which of the following surface will have the least emissivity?

Ffeiad # O 759 Odg &1 Soieid 999 @H gR?

Options:

1) Plastic
ISliEsG

2) Glass

Bid

3) Paper

EANE]

4) Aluminium foil

UegHi-aH &1 ol

Correct Answer: 4) Aluminium foll

e o T

Candidate Answer: 2) Glass
Bid

QID : 81 - In arc welding, temperature of which of the following order may be generated?

3 afcen |, FafaRad # € (59 ©H &1 d9daH Iad [ddl off 96l 572

Options:

1) 1200°C

2) 4400°C

3) 5500°C

4) 10000°C

Correct Answer: 3) 5500°C

Candidate Answer: 4) 10000°C

QID : 82 - Fins efficiency deals with

i & O gefid gl
Options:

1) Mechanical efficiency
TifAD &Hd

2) Thermal efficiency
adtg (yHa) aman

3) Cost of manufacturing
fafaior &1

4) All options are correct

ot e el &

Correct Answer: 2) Thermal efficiency

IR (uHe) &

Candidate Answer: 2) Thermal efficiency

g (YH) &

QID : 83 - Lowest value of thermal conductivity is of

P AgY (YHd) Iaed & 91 999 9 6

Options:

1) Aluminium

LS CUERE

2) Teakwood
AT

3) Glass wool
RER Bid
4) Water

E

Correct Answer: 3) Glass wool

WER Bid

Candidate Answer: 3) Glass wool

WEGR DI

QID : 84 - Temperature of sun can be measured with

T auaE_ dHu S gdbdl el
Options:

1) Radiation pyrometer

fafdor

2) Clinical thermometer

JelH® YA

3) Laboratory thermometer

TR YA

4) All options are correct

ot e gt &

Correct Answer: 1) Radiation pyrometer

fafp2or urgiHiex

Candidate Answer: 1) Radiation pyrometer

fafdeor iR




QID : 85-1If . then a flow is more likely to be laminar.
e @ UdIg =l giH @l YHIGHT +fid B
Options:

1) velocity (v) is less

4T (v) PHE

2) diameter of passage is small

ARl &1 Y Bl §

3) viscosity of the flowing fluid is high
Ydifed 5d &1 WHA AH® &

4) All options are correct

ot ey el &

Correct Answer: 4) All options are correct

i faped Tl &

Candidate Answer: 4) All options are correct

¥ fiehey wel &

QID : 86 - Expression of Reynolds number for circular pipe is

JAIBR UIEY & AU Hlegy We & du® gl

Options:
1)
Re = p (vd/p)
2)
R, =vd’ /p p
3)
Re = (Vdx /pA)
4) No option is correct
I fached Tel Tel &

Correct Answer: 1)

Re = p (vd/y)

Candidate Answer: 1)

Re = p (vd/p)

QID : 87 - Draught fans produce static pressure of about

ST U TRTHIT @1 fRR gard 3dUd &id ¢
Options:

1) 15 bar

159

2) 4 bar

449

3) 0.15 bar

0.1549dR

4) 2 bar
249

Correct Answer: 3) 0.15 bar
0.15 49}

Candidate Answer: 3) 0.15 bar
0.15dR

QID : 88 - In a rectangular notch, the ratio of percentage error in [(discharge)/(measurement of head)] is
% JOdeR @, [(Fasyd g dufiea e d1eua . &

Options:

1) 5/2

2)2

3) 3/2

4)1/2

Correct Answer: 3) 3/2

Candidate Answer: 4) 1/2

QID : 89 - s used to measure soil water tension.
el Sicl d-1d @l J19 @ feu CARCUUIRG I RSIRI]
Options:

1) Photometer
TP TRHTG!
2) Pyrometer

3) Psychrometer

4) Tensiometer

Uy d-1d A7di

Correct Answer: 4) Tensiometer

Ug d-1d |4l

Candidate Answer: 4) Tensiometer

Uy d-1d Ardi

QID : 90 - What is the Sl unit of heat energy?

0T Tt 5 T =T ST 2




B e A A A
Options:

1) Calorie

BRI
2) Joule

o[
3) Both Calorie and Joule

HARIAYT SEa !

4) No option is correct

g i ey g 181 8

Correct Answer: 2) Joule

d

Candidate Answer: 2) Joule

o

QID : 91 - On which of the following principle, hydraulic lift works?
fafafad 9 9 feg fugid ) e sifte fawe & &dl 82

Options:

1) Newton's Law
e & FaH

2) Joule's Law
ofcl & |

3) Archimedes’s Law
HfbHSIS & a9

4) No option is correct

Bis Hi fdbey g 8T &

Correct Answer: No option is correct

ﬁ'&‘lﬁﬁmﬂ%ﬁ%ﬁ%

Candidate Answer: 4) Mo option Is correct

Big i fapeu wEl el &

QID : 92 - At what temperature (in degree Celsius), the numerical value on Celsius and Fahrenheit scales become equal?

frg arae (Fs3 dfchagd), [Refcqgd 3R BRAZES ©hd IR Y=AdHS HH 9HH 8l Sl 872
Options:

1) - 40

2) 140

3) 68

4)-273

Correct Answer: 1) —40

Candidate Answer: 1) — 40

QID : 93 - Is the process of conversion of solid state directly to gaseous state.

B ae ¥ HiY g awy § © Ui &1 Uhdr gl
Options:

1) Sublimation
JeEuraH
2) Evaporation

Gl Gl

3) Condensation
RO
4) No option is correct

Big i fapeu wel el &

Correct Answer: 1) Sublimation

Jedurdq

Candidate Answer: 1) Sublimation

Ri% | GE

QID : 94 - Flash butt welding is an example of
iR 92 dfegT &1 Uh IeE |
Options:

1) Arc Welding

Hdh dfesT

2) Gas Welding

9 dfed

3) Solid rate welding
a1 & afed

4) No option is correct

Big i fapeu wel e &

Correct Answer: Mo option is correct

ﬁ'ﬁlﬁﬁmﬂﬁr%ﬁ%

Candidate Answer: 3) Solid rate welding

B &R diesT

QID : 95 - The reason behind weld spatter defects in welding is
dicET H des JTHIvI(FSR) SNl & Ul & HRUI gl

Options:

1) slug inclusion
YT (FHT) TGS
2) Hydrogen entrapment

~




3) High welding current
= e .
4) No option is correct

Big i fapeu wel el &

Correct Answer: 3) High welding current
3o diced] Bie

Candidate Answer: 4) No option Is correct

Big Hi fFpey g e 8

QID : 96 - Which of the following is used as flux for soldering?

dls (Hies i) & foU Mas (Badd) & ©u J Ffafad © O fed &1 JudiRT fedr ofdr g2

Options:

1) Borax

R

2) Boric Acid

qI® 3

3) Both borax and boric acid
aRa auT aifta o gl

4) No option is correct

Big i fFoey g e 8

Correct Answer: Mo option is correct

ﬁ'&‘!ﬂﬁaﬁqﬂé‘ﬂ‘aﬂ%

Candidate Answer: 1) Borax

GIEGs

QID : 97 - In brass machinery, what is the value (in degree) of rake angle generally?
iaa &f A=i-R & 9\a: 3@ &0 @1 794 (539 7) 71 8ia1 82

Options:

1) 30

2) 90

3)0

4) 45

Correct Answer: 3) 0

Candidate Answer: 4) 45

QID : 98 - are the bolts having threads at both heads.

_ GHSTWR YT O die B B
Options:

1) Double sided bolt
fgursd gice

2) Stud

*s

3) Tap bolt

CUdiee

4) No option is correct

Big i fFoey g e 8

Correct Answer: Mo option is correct

ﬁ'&‘!ﬂﬁaﬁqﬂﬁﬂ‘aﬂ%

Candidate Answer: 2) Stud
LG

QID : 99 - What is the value of 1 ton of refrigeration?

1 o1 UxitaT RFeRE) &1 JF &1 8id1 872
Options:

1) 3.8 kw

3.8 By
2) 50 kl/s

50 Sl

3) 1000 J/min
1000%1/fHe

4) 1000 kJ/minute
10006/ e

Correct Answer: 1) 3.8 kw

3.8 Beyg

Candidate Answer: 1) 3.8 kw
3.8 % S&1yg

QID : 100 - What are the total number of degree freedom of a rigid body?
U £¢ Mo & f&l wadd B dol T 1 82

Options:

1) 2

2)4

3)8

4) No option is correct

H1E 1 oy 981 181 8

Correct Answer: Mo option is correct

ﬁ'&‘!ﬂﬁaﬁqﬂé‘rq‘zﬂ%




Candidate Answer: 4) No option is correct

HIE 1 oy 981 181 8




